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UPPSC PCS Prelims 2018

LT & @ 5w gow &t el & favg vydle 31 g $30 e 2019
AT fohar 87

A. 3T TRyt fehael, reile Ry Sifeer
B. tfar3s fohuaa, gelieig HewAe

C. gl ey, vfordst ko

D. SITIShT #HeTg, Hferer SieX

E. ol T Sohel, Sleote f3aTaT

Answer ||| B
Solution |||

* Eliud Kipchoge (Kenyan’s long-distance runner) & Dalilah Muhammad (American track
and field athlete) won the World Athlete of the Year awards.

« Kipchoge claimed the prize in Monaco after making history last month when he ran the
marathon distance of 42.195 kilometres (26.219 miles) in 1hr 59min 40.2sec.

* American Muhammad won her award after a magnificent year that saw her set a world
record of 52.20 seconds at the US Trials in lowa in July breaking a record that had stood
since 2003.

* The winners were chosen following a vote shared 50% by World Athletics, 25% by athletes,
coaches and journalists and 25% by the general public.

2.37%9% 35HA & el AT Aeafeli@d #H fhadl TRIRAr 3R gasdr §¢ W@ 82

A.hdel Tehdld ol
B. chael Wlel T
C. hadl ddsT T
D. 3WIFd Tt Fr
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Answer ||| D
Solution |||

Global warming is a long-term rise in the average temperature of the Earth's climate system.
Climate change will lead to an increase in the number cyclone, storms and hurricanes due to
warmer ocean temperatures and higher sea levels are expected to intensify their

impacts. Therefore, the correct answer is option D

3.Iaf@d & #id To-arde TIETOT WTa FT 3STEI0T oTal §7?

A. SIgHATS PR

B. aia¥giaeh 191

C. TSET 3°TeT

D.ufa¥ 39aa

Answer ||| B
Solution |||

In-situ (“on site’, ‘in place’) conservation is a set of conservation techniques involving the
designation, management and monitoring of biodiversity in the same area where it is
encountered. The in-situ concept is best understood in contrast to ex-situ conservation. Ex-
situ (‘off site”) conservation techniques are implemented away from the conservation target's
natural habitat. Therefore, the correct answer is option B.

AFH & RN Q@ W-daraAr fafenor 3ifAfhar et & @ @ ey el 87

A. FIET ANATFISS

B. oW 318 ATFASS
C. 3ral

D. FeRTSSH
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Answer ||| C
Solution |||

Ultraviolet radiation is produced by high-temperature surfaces, such as the Sun, in a
continuous spectrum and by atomic excitation in a gaseous discharge tube as a discrete
spectrum of wavelengths. Most of the ultraviolet radiation in sunlight is absorbed by oxygen
in Earth’s atmosphere, which forms the ozone layer of the lower stratosphere. Therefore, the
correct answer is option C.

5. ST 1 fohd &7 # HAlael WEPR YT fhar 3

A P

B. 3remeT
C. 3wfer
D. enfd

Answer ||| D
Solution |||

Norman Ernest was an American agronomist, humanitarian, and Nobel laureate who has been
called “the father of the Green Revolution.” Dr. Borlaug was one of only six people to
have been awarded the Nobel Peace Prize, the Presidential Medal of Freedom and the
Congressional Gold Medal. He was awarded Nobel peace prize in year 1970. Therefore, the
correct answer is option- D.

6 P oot & F7 wd ghfee e ¥

A. &AfEr - bR
B. Sig WraifarhT-canfeasa
C. Mesd Arad-fAerfdd A
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D. 350l W - AT

Answer ||| D
Solution |||

The Ozone (O3) forms and found in Stratosphere of Earth’s atmosphere. Therefore, the
correct answer is option- D.

Rennet is used to separate milk into solid curds (for cheesemaking) and liquid whey, and so is
used in the production of most cheeses.

A plasmid is a small DNA molecule within a cell that is physically separated from
chromosomal DNA and can replicate independently. It is used in Genetic Engineering.

Golden rice is a variety of rice produced through genetic engineering to biosynthesize beta-
carotene, a precursor of vitamin A, in the edible parts of rice.

7 rfafed geat # i a@d gafad a8 82

A. ST TSET SET-Shellceh

B. ATH T Slid HHIRUI-37TH
C. IRAR g7 g ARTI-FIe
D. R#eluTel TSET 3UTA-HET e er

Answer ||| D
Solution |||

Simlipal National Park is located in Mayurbhanj district of Odisha. It is famous for elephants.
Therefore, the correct answer is option- D.

AT & fF8 . Y. ATelleR & AR 337 T faAeT F3gh A S g2
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A. SaifaY
B. @ forhr

C. Sgifsehr
D. srsienfaehr

Answer ||| A
Solution |||

J. V. Narlikar is one of the most popular astrophysicists of the contemporary times. He is the
man behind watershed Conformal Gravity, which is also known as Hoyle — Narlikar Theory.

Narlikar is also a rationalist and resists the idea of adding and analyzing superstitions in
science.

Narlikar has openly said that Astrology should not be considered a science. He has termed
Astrology not being a part of Veda. In fact, he says that there is nothing like Vedic Astrology.

Astrology came to India with Alexandar, as per Narlikar. Therefore, the correct answer
is option- A.

o fAFAfaf@a A forgent 3naseR fdeder o garT fomar Ir=am?

A.Xfsar

B. TFg-Y AMA

C. fastelr &1 dod

D. 3WRFd H FIg g1

Answer ||| B
Solution |||

Radio- Guglielmo Marconi

X-Ray- Wilhelm Roentgen
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Electric Bulb- Thomas Edison

Therefore, the correct answer is option- B.

1081 U, U. T gfahsiolell @vae fhash ganrt 8t a5 &

A.Siohe T Al
B. dIcH dT shish
C.ud. St G
D.3RIad H & FIS gl

Answer ||| B
Solution |||

In biology, "double helix™ is a term used to describe the structure of DNA. A DNA double
helix consists of two spiral chains of deoxyribonucleic acid. James Watson and Francis
Crick has been credit for the discovery of the double-helical structure of DNA for which
they were awarded a Nobel Prize. Therefore, the correct answer is option- B

11T fagd greachra fafaon & @ fhaehr Foit 3iftehd#d gl &7

A. T YhIAu

B. 3/alad faor
R LICCIGIRET
D. X-ferot
Answer ||| D

Solution |||

Radiation-Wavelength--Energy

Gradeup Green Card
Unlimited Access to All Mock CHECK HERE

Tests of State PCS Exams



http://www.gradeup.com/
http://bit.ly/2BCBkXH

www.gradeup.co

Radiowaves-1000-0.1 m--0.001-10 eV
Microwaves-100-1 mm--10-1000 eV
Infrared-100—-1 pm--10-1000 meV

Visible light-700-400 nm--1.8-3 eV
Ultraviolet-400-10 nm--1.8-100 eV

X- and gamma rays-1 nm-0.1 pm--1 keV-10 MeV

Therefore, the correct answer is option- D

1209 5T A ¥ fFaQ QAeadr ar 3cafoid giar 82

A. had-4TT & Tar F

B. shdol &iH T SFeT &
C.(A) 3R (B) gt &

D. 3Red & forelt & 7t

Answer ||| C

Solution |||

o

gradeup

Greenhouse gas (GHG) emissions from natural resources have considerable impacts on
climate change. Global methane (a potent greenhouse gas) emissions from natural sources are
around 20,80,00,000 metric tonnes per year (EPA, April 2010). Terrestrial arthropod-like

termite contributes to the methane emission resulting from their digestive system.

According to data released by NCBI Paddy fields are major sources of global atmospheric
greenhouse gases, including methane (CHa) and nitrous oxide (N2O). Therefore, the correct

answer is option- C

13.AFITAf@a deat & ST red=ras 22
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A. egHTH
B. Rafererra

C. aier

D. €rar

Answer ||| B
Solution |||

A material that is neither a good conductor of electricity nor a good insulator, but has
properties of electrical conductivity somewhere between the two. Silicon and germanium are
good semiconductor materials. Aluminium, Silver is good conductor of electricity.

Lead is the poor insulator (An electrical insulator is a material whose internal electric charges
do not flow freely; very little electric current will flow through it under the influence of an
electric field)

Therefore, the correct answer is option B

14.9Rd & TIAUTT &l Y&araaT H fordey YR T &=, TaraddT, GATTdT U9
HTJcd &1 38T A H Seoq fohar a7 82

A. 3,521
B.1,3,52
C.2,531
D.5,2,1,3

Answer ||| A

Solution |||

The Preamble has contained 4 types of universal values mentioned in the constitution.

1) JUSTICE - social, economical and political justice for the people.

Gradeup Green Card
Unlimited Access to All Mock CHECK HERE

Tests of State PCS Exams



http://www.gradeup.com/
http://bit.ly/2BCBkXH

o

www.gradeup.co gradeup

2) LIBERTY- have freedom of thoughts, expression, faith, belief and worship

3) EQUALITY- of status and of opportunity and to promote them among all, all are equal
before the law

4) FRATERNITY- assuring the DIGNITY OF THE CITIZENS and the unity and integrity of
the nations...they should feel brtherhood

Therefore, the correct answer is option A

15.2017 & Isgufd goAtd & AT, FT 3FAIGAR FleT A2

A AT FART AR

B. AT 9Tl oM aMefr
C.3l. W g

D. 3WIad H FIg a1

Answer ||| A
Solution |||

Ms. Meira kumar was the UPA candidate for the Presidential election. However, the election
was won by Ram Nath Kovind thus making him the 14" President of India. Therefore, the
correct answer is option- A

Gopalkrishna Devdas Gandhi is a retired IAS officer and diplomat, who was the 23rd
Governor of West Bengal serving from 2004 to 2009 and the grandson of Mahatma Gandbhi is
an Independent Candidate.

Dr. Karan Singh- Member from Indian National Congress

16.50f 3T &7 T 3UTeyeT (3uweafa) HiaT A
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A. 3RTde garfsar

B. TERTH IroTel

C. UG YeHA-IH
D. &g $AR

Answer ||| A
Solution |||

The first Vice-Chairman of the NITI Ayog was Arvind Pnagariya, an Indian-American
economist and a professor of economics at Columbia University; he served as first vice-
chairman of the government of India think-tank NITI Aayog between January 2015 and
August 2017. Therefore, the correct answer is option- A

17.FaRf@d # -1 IR H HWT & IR W ST gl I AT?

A. el

B. #LT Ycer
C. 3TY 9cer
D. 37 g&Rr

Answer ||| C
Solution |||

The congress in its Jaipur session appointed a three member committee known as JVP
committee after the name of its leaders — Jawaharlal Nehru, Vallabh Bhai Patel and Pattabhai
Sitaramaya. The committee rejected language as the base of reorganization of states.

Potti Sreeramulu, one of the activists demanding the formation of a Telugu-majority state,
died on 16 December 1952 after undertaking a fast-unto-death. This resulted in the creation
of the first state on linguistic basis for Telugu speaking people called Andhra State on
October 1, 1953. It was later renamed Andhra Pradesh. Therefore, the correct answer is
option-C.
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18.Ffaf@ad & #ia e dRusar e &2

A. T9 dlieh TAT 31T
B. faa 3mater

C. aTae 3marer

D. Aifa 3T

Answer ||| D

Solution ||| (decision) of union cabinet. For Example Planning Commission, National
Development Council etc. Therefore, the correct answer is option- D.

19.FRIRAT 3T i FEgfaar fFrafaf@a # fFad gafud g2

A. ToEd T faaRoT

B. Irsgufa &1 efddar ua &
C. §HG Fr Feegd

D. Fg-Isd &Y

Answer ||| D
Solution |||

Sarkaria Commission was set up in 1983 by the central government of India. The Sarkaria
Commission's charter was to examine the central-state relationship on various
portfolios and suggest changes within the framework of Constitution of India. The
Commission was so named as it was headed by Justice Ranjit Singh Sarkaria (Chairman of
the commission), a retired judge of the Supreme Court of India. Therefore, the correct
answer is option- D.
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20.9AYYH TUCICHS TR 7T ST H IRA &I A2

Ade e & (Z, &. #H)
B. afeorad #

C.%wr H

D. RaceRevs &

Answer ||| A

Solution |||

The modern concept of parliamentary government emerged in the Kingdom of Great Britain
between 1707-1800AD. Therefore, the correct answer is option- A.

21.Fafaf@a & O fhaes @99 & TT AT T AT RN 22

A, Tsgafd 1 3UEEY FTel & FAAE TR Halm

B. Hald =R & ~ARTERIT &l 3YSET A g Hradigl el
C. Toh =13y Qe WRAT Fal & Folol & FEJIA ALl

D. 3WIFd HIS AeT

Answer ||| C
Solution |||

The Rajya Sabha or Council of states has been given two exclusive or special powers that are
not enjoyed by the Lok Sabha:

1) It can authorise the Parliament to make a law on a subject enumerated in the State List
(Article 249).

2) It can authorise the Parliament to create new All-India Services common to both the
Centre and states (Article 312)
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Therefore, the correct answer is option- C

2291 & TRauT & g 6T # g7 AFRGdr ¥ &g graur=l & 9 82

A. HTIT |
B. HATITII
C. At VII
D. &A1T IX

Answer ||| B
Solution |||
Part 11 of the Constitution of India (Articles 5-11) deals with the Citizenship of India.

Article 5 speaks about citizenship of India at the commencement of the Constitution (Nov 26,
1949).

Acrticle 11 gave powers to the Parliament of India to regulate the right of citizenship by law.
Thus Citizenship Act 1955 was enacted by the Parliament. It is an act to provide for the
acquisition and termination of Indian citizenship and the same acts speaks about citizenship
of India after the commencement of the Constitution. Therefore, the correct answer is
option- B.

23 R FfAereT # R 1 INAFIRE 91 F 3 Fraem=il H qe FMerT
Rl &

A. 3T TEEIT & HTEROT SgAd R

B. 2/3 SgAT @RI

C. 3/4 SgA @
D. 3791 1/3 H&dT & GHAIA garT
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Answer ||| A

Solution |||

The Constitution can be amended in three ways:

A) Amendment by simple majority of the Parliament,

B) Amendment by special majority of the Parliament, and

C) Amendment by special majority of the Parliament and the ratification of half of the state
legislatures.

By Simple Majority of Parliament

A number of provisions in the Constitution can be amended by a simple majority of the two
Houses of Parliament outside the scope of Article 368.

These provisions include:

1) Admission or establishment of new states.

2) Formation of new states and alteration of areas, boundaries or names of existing states.
3) Abolition or creation of legislative councils in states.

4) Second Schedule—emoluments, allowances, privileges and so on of the president, the
governors, the Speakers, judges, etc.

5) Quorum in Parliament.

6) Salaries and allowances of the members of Parliament.

7) Rules of procedure in Parliament.

8) Privileges of the Parliament, its members and its committees.
9. Use of English language in Parliament.

10) Number of puisne judges in the Supreme Court.
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11) Conferment of more jurisdiction on the Supreme Court.

12) Use of official language.

13) Citizenship—acquisition and termination.

14) Elections to Parliament and state legislatures.

15) Delimitation of constituencies.

16) Union territories.

17) Fifth Schedule—administration of scheduled areas and scheduled tribes.
18) Sixth Schedule—administration of tribal areas.

Therefore, the correct answer is option- A

2419 IR & fhda G T9e ¥ Iquiyd W W fhaT dde &l ey
T AT ST Gehar 72

A. 30 feaT
B. 60 f&=T
C.90 feaT
D. 120 feeT

Answer ||| B
Solution |||

The Constitution provides for disqualification of a Member of Parliament (MP) if he/she is
absent continuously for 60 days from the Lok Sabha or the Rajya Sabha without
permission.The Committee on Absence of Members deal with these matters which is a
special committee of the Lok Sabha and consists of 15 members. There is no such committee
in the Rajya Sabha and all such matters are dealt by the House itself. Hence MPs submit
leave applications when they are absent for a longer period of time.
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Therefore, the correct answer is option- B

251077 TR el H & fraa g &1 IO 3cqqe&Ts’ Ad Hl
gfafafica s arelr st 3ugra fhar am?

A. T8 SHR
B. TS ool
C. s fHer
D. A8 oiHSE

Answer ||| A
Solution |||

Lord Dufferin served as Governor General of India and Viceroy from 1884 to 1888. During
his tenure, the Third Burmese war led to annexation of whole of Burma and Burmese ruler
was exiled to India. Lord Durfferin initially called Congress as representative of
“microscopic minority of India”. He also share pamphlet appeared titled “The Rising Tide*

and another pamphlet appeared titled “An Old Man’s Home*.

Therefore, the correct answer is option- A

26.S19T UFESH &7 g7

A. ERT TAT FIcTehTdl & FET IS
B. lRAT &1& I Hgdlell A

C. Yeldel TUT HUSel & g THEH
D. Sl gf3enr

Answer ||| B

Solution |||
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Hima Das was the first Indian athlete to win gold medal in track event at IAAF World U20
Championships held in Tampere, Finland. In 2018 Asian Games (Jakarta), she had won silver
medal in 400 m final to win a silver medal. She is nicknamed ‘Dhing Express’ after her
village in Assam. She is recently appointed as Sports Ambassador of Assam. Therefore, the
correct answer is option- B

277 FIA & grT & #H (RaFax 2018) 7T # & fhaer U8 TFdHST FAT
T g7

A. TaTS ARG &l
B. §i.UH.TA.Td. &l
C. 9¢I Jar3i 9T YT &hr

D. Yisiere Wel &l
Answer ||| B
Solution |||

Chungneijang Mary Kom Hmangte is an Indian Olympic boxer from Manipur. She is the
only woman to become World Amateur Boxing champion for a record six times, and the only
woman boxer to have won a medal in each one of the seven world championships. State-run
telecom firm BSNL roped in Indian boxer MC Mary Kom as its brand ambassador for two
years. Therefore, the correct answer is option- B

28 . qHARTRdT TFea=tl Hafea =arared & v Arafaf@a & fraa dafeud
87

A. AT, Fr arT 377
B. ¢RI @AeeT 7 37fese 377
C. ¥R FAYTeT T 3efeese 277
D. 3RIad & FIg oTgl
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Answer ||| A
Solution |||

Section 377 of the Indian Penal Code is a section of the Indian Penal Code introduced in
1864 during the British rule of India. Modelled on the Buggery Act of 1533, it makes sexual
activities "against the order of nature" illegal.

On 6 September 2018, the Supreme Court of India ruled that the application of Section 377 to
consensual homosexual sex between adults was unconstitutional, "irrational, indefensible and
manifestly arbitrary"”,but that Section 377 remains in force relating to sex with minors, non-
consensual sexual acts, and bestiality.

Therefore, the correct answer is option- A

20.guReiaieh ol fAASS Segre et & @ fhaepr vheh TgFd 3UHA g2

A HRA &1 &F Hl
B. HRd T dlel ol
C. ARA dUT SRl ol
D. 3WIad H FIg T8l

Answer ||| A
Solution |||

The BrahMos is a medium-range ramjet supersonic cruise missile that can be launched from
submarine, ships, aircraft, or land. It is the fastest supersonic cruise missile in the world. It is
a joint venture between the Russian Federation's NPO Mashinostroyeniya and India's
Defence Research and Development Organisation (DRDQO) who together have formed
BrahMos Aerospace.

Therefore, the correct answer is option- A
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30.UgST AU ool NSTSR FJoll$ 2018 & folest & @ vy gor & Isgufd i
g

A, AR
B. 3TSifeaT
C. AfFger
D. fAshRTap3m

Answer ||| C
Solution |||

General elections were held in Mexico on 1 July 2018. Voters elected a new President of
Mexico to serve a term of five years and ten months (reduced by two months from the
constitutional mandate due to a change in the inauguration date as of 2014). The presidential
election was won by Andrés Manuel Lépez Obrador of the National Regeneration Movement
(MORENA), running as the candidate of the Juntos Haremos Historia alliance. Therefore,
the correct answer is option- C

31.96ITHT 998 & YR X, ISR & fov AFafai@d b & faas genaaay
H10dY FeT ST Forr & TR=—A?

A. ATeIGIad
B. RAfderg
C. uTfehEdret
D. 3WFd H FIg =TgT

Answer ||| C
Solution |||

The former Pakistani Prime Minister Nawaz Sharif has been sentenced to 10 years in prison
for corruption related to Panama Paper.
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Panama Paper is a massive leak of 11.5 million documents of a Panamanian law firm -
Mossack Fonseca. The documents, in April 2016, revealed how the clients of Mossack
Fonseca were able to launder money, dodge sanctions and avoid tax. Therefore, the correct
answer is option- C

32.5]e11$ 2018 H YhITRIT A2heTel ISTEEY 30 eI (NRC) & 3¢ & HTaR fohdd
ToT H40om@ ¥ 38 3dy Romdf a7 =y g2

A. ATTIUS
B. fAeiR#e
C. 31 #H
D. B

Answer ||| C
Solution |||

The Assam government published the final draft of the National Register of Citizen in which
around 40 lakh people did not find mention in the list out of 3.29 crore applicants.

National Register of Citizens of India

The National Register of Citizens (NRC) is a register containing names of all genuine Indian
citizens.

The register was first prepared after the 1951 Census of India. The NRC is now being
updated in Assam to include the names of those persons (or their descendants) who appear in
the NRC, 1951, or in any of the Electoral Rolls up to the midnight of 24th March, 1971 or in
any one of the other admissible documents issued up to mid-night of 24th March, 1971,
which would prove their presence in Assam or in any part of India on or before 24th March,
1971. Therefore, the correct answer is option- C
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33.5eM1$ 2018 A folet 1 Q fohAsh SaRT “@HY (AT I[UTaT Td AIHHA JalefATeT
YUTTel) T 3GHICH Tohdl I1-T?

A. e 94TE

B. ¥ MIer

C.3l. g¥ay

D. 3WIad H FIg TaT

Answer ||| C
Solution |||

Science& Technology, Earth Sciences; Environment, Forest & Climate Change Minister Dr
Harsh Vardhan inaugurates the most advanced System of Air Quality and Weather
Forecasting SAFAR (System of Air Quality and Weather Forecasting) at ChandniChowk in
Delhi. It is a giant true colour LED display gives out real-time air quality index on 24x7 basis
with colour coding alongwith 72-hour advance forecast which was developed indigenously in
record time by Indian Institute of Tropical Meteorology, Pune and operationalized by India
Meteorological Department (IMD).Therefore, the correct answer is option- C

34.31ARehr a3, faaiTe (SCIENCE) EaRT 26 SeT$ 2018 &l SIRY RUIE & 31JaR
Teh ARl AT Sl T Il Tohd 91§ WX el 87

A ggafd
B. oifd W
C.h W
D. #ITT W

Answer ||| D

Solution |||
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According to the U.S journal SCIENCE a massive underground lake has been detected for
the first time on Mars, raising the possibility that more water -- and maybe even life -- exists
there.

Therefore, the correct answer is option- D

35.3/ARET & USCHTd Slelles ¢FT & 3o HIRAT & A fohdd ST H 12 ST 2018
forer ger # Hetrera &2

A. FIf=T &
B. SralAfar &
C. R &
D. ASelvs H

Answer ||| C

Solution |||

The 2018 North Korea—United States Singapore Summit, commonly known as Singapore
Summit, was a summit meeting between North Korean Chairman Kim Jong-un and U.S.
President Donald Trump, held at the Capella Hotel, Sentosa, Singapore. This was the first-
ever meeting between leaders of North Korea (Kim Jong ) and the United States president
Donald Trump. Therefore, the correct answer is option- C

36.IET - | T I - 11§ FATAT FT |7 QT el F T 3R A1 =T RS |
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-1 T - I
(EfaToT aIRa & FHEd & | (3 To3)
THETIAA A38T)

A T 1. 3 aHFd
B. ATET 2.l

C. 3T 3. Eda
D. fasoraiar 4. qTeiarehT

A.A-1B-2C-3D-4
B.A-2B-1C-4D-3
C.A-3B-1C-4D-2
D.A-4B-3C-2D-1

Answer ||| C

Solution |||

A) Dhananjaya - Kusthalpura
B) Nilaraja - Avamukta

C) Ugrasena - Palaka

D) Vishnugopa - Kanchi

Therefore, the correct answer is option- ¢

37.f%T & A Y FoIA F FIRAT FlT-F gy IR g # U 87
A feT Fet A F T 3R F TG RFIC
|. TSI

1. Srrer
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1. 3R

V. §'<_*|'RT

AL LT TV
B. 1L

C. 1,

D. I, IV

Answer ||| D

Solution |||

Sites in Uttar Pradesh

Hulas - Saharanpur District

Mandi - Muzaffarnagar district

Sanauli - Baghpat District - Burial site with 125 burials found
Sothi - near Baraut Bagpat district
Alamgirpur - Meerut District

Other sites are

Kalibangan Hanumangarh District Rajasthan
Lothal Ahmedabad District Gujarat

Therefore, the correct answer is option- D

38T H O Fia-ady grr [l @R @ g9feg A

A. SofY
B. sTIRHA
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C. AT
D. ATORTH

Answer ||| D
Solution |||

Manigrama — It is a large, influential guild of South Indian merchants. Tamil inscriptions
record a tank construction by an important person and the tank is placed under the guard of
the local Manigramam members whereas the Nanadesis were a guild of traders who
organized themselves into one of the biggest of the trading associations at the time of the
Hoysala Empire. They developed significant trade contact with many areas, including foreign
countries such as Malaya, Magadha, Kosala, Nepal, and Persia. They were respected in their
communities and were generous in their grants to temples and mathas.

The term Nanadesi means "traders from other kingdoms" while manigrama was used for
local merchants.

Therefore, option B AND C both are correct.

39.5 a1 YA U T § | U I HUT (A) TUT GEX I HROT (R) gl IAT ¢ |

HUA (A) : HETehd H HIMld W &R A TGl 315 3 GEcepl HT BREAT H
3fefare fohar I |

HROT (R) : IRAR e ot A Folid A3, Toleg TAT gl ST AT, & QAlehreT
q|

A e g # ¥ W W R

A. HYT (A) TAT FROUT (R) AT Tl § AT HROT (R) HYUT (A) T TgT SATEAT ¢ |
B. YUeT (A) TUT HROUT (R) cleil WE § I HROT (R) HUT (A) T Arear =1gh § |
C. U (A) TEY 8, o FROT (R) el & |

D. e (A) ITeTd 8, fohed] RO (R) FET & |
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Answer ||| B
Solution |||

A number of Persian translations of Sanskrit texts were done during the rule of Akbar. This
erais

called as the Golden era' for the Persian translation of Sanskrit-texts. . Therefore, the correct
answer is option- B

40.95afAT AT GEART a1 3RFRY I+ Y St & IR 7 ATy fhe o &
fAerdr &2

A OGRS oE
B. SHIR oI
C. 37T o™
D. gTiIa[FhT o

Answer ||| C
Solution |||

Pushyamitra Shunga was the founder and hero of the Shunga dynasty. He is also known to
have performed an Ashvamedha Yagna. The Ayodhya Inscription of Dhandeva mentions
that he performed two Ashwamedha Yagyas (Horse Sacrifices). . Therefore, the correct
answer is option- C

41 FETHTCNT AR & g Hcll # Tehell 2rsq T TAT G & | T§

A. 93T & AT a7
B. G{R & AT a1
C. a1 3R 9o & o 7 &g Sors AT, Afehed THR & FAAA 787 o7 |
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D.3uifaif@a & & #1 & 7&F

Answer ||| C
Solution |||

Chakla was a district level administrative division in Indian subcontinent during Mughal
period. The chakla system was in practice at least at Bengal and Awadh provinces. Chakla
was the major administrative division in a province, subah. It was further subdivided into
Parganas; each Pargana was consisting of several villages. It is a Territorial unit between
Subah and Paragnah, but not Identical to Sarkar. Therefore, the correct answer is option- C

42T & AT ST & Toled & erdl Al fovd A1 @ ST STl g2

A. TS 7L

C. 39d§
D. STHIETAT

Answer ||| A
Solution |||

Chauth and Sardeshmukhi were two types of taxes collected in South India, particularly
Maratha Empire during medieval times. These two taxes became important sources of
revenue for Maratha administration. Chauth was comprised of 1/4 of the revenue assessment
paid as a fee for non-molestation. Sardeshmukhi was an additional levy of 10% of revenue
which Shivaji claimed on being the Sardeshmukh (overlord). Shivaji was highly successful in
mobilizing the resources using these two taxes.

Therefore, the correct answer is option- A
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43.ﬁwﬁﬁwm$wﬁ‘@wm’mmwﬁﬁwﬁmﬁ
$HIGTAT AT?

A. gHIeT 6] J9TH
B. FellAT Fodlel
C. Sireh3fam

D. AIGH 3T

Answer ||| D
Solution |||

The Khayr-ul-manzil Khairul Manazil or Khair-ul-Manazil is a historical mosque built in
1561 in New Delhi, India. The mosque is situated in the opposite of Purana Qila on Mathura
Road, south east to Sher Shah Gate. The gateway of the mosque was made by red sandstone
following Mughal architecture, but the inside structure of the building was made in Delhi
Sultanate pattern. This mosque was built by Maham Anga who was Emperor Akbar's wet
nurse cum foster mother.

Therefore, the correct answer is option- D

44 AFATTET At A @l Ger gATdT e 87

2T eTclcd

A. TR | G ATl

B. IATH | {MEHS0T gUsdaAT
C.&HHR | ree g

]
D. &A% | TR el

A.A-1B-2C-3D-4
B. A-2B-1C-4D-3
C.A-3B-1C-4D-2
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D.A-1B-2C-3D-4

Answer ||| D

Solution |||

Place Leadership

A) Sambhalpur - Surender Sahi

B) Ganjam - Radhakrishna Dandsena

C) Kashmir - Gulab Singh

D) Lucknow - Begum Hazrat Mahal: The wife of Nawab Wazid Ali Shah (not Liyagat Ali)

Therefore, the correct answer is option- D

45 FrrAfaf@a oAt & AT @l gafad g &
Ramaa : a s
A. gafinlY : 2/ &g

B. dRITST : IHATeG &d
C. 8o : dR Sledld

D.ﬂgu : EﬁT q’|§b23||
Answer ||| B
Solution |||

Ramachandra also known as Ramadeva was a ruler of the Seuna (Yadava) dynasty of
Deccan region in India not the ruler of Warangal. Therefore, the correct answer is option-
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46 FAFATATET T Hlellelshd H FAETd HITSTT 3R A &I - Foe & FEr 3R
FI YT HITAT |

A) HEFAC ATE
B) STETGR MM
C) HeHIM I

D) 3&HC g

A.ACDB
B.BADC
C.CABD
D.DBCA

Answer ||| B

Solution |||

Jahandar Shah — It ruled from 1712-1713
Muhammad Shah — 1719 - 1748
Ahmadshah -1748 - 1775

Alamgir Il - 1754 — 1759

Therefore, the correct answer is option- B

47,9739 M T housT T Aerra 3meRa &

A. gTHTTSS Tahra
B. Tefefae e
C. 9Ragd Ud TIAR H [y
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D. HRTSET TSt

Answer ||| C
Solution |||
The concept of 'Global Village' is based on Transport and Communication Development.

Global village refer to the world as a global village when they want to emphasize that all the
different parts of the world form one community linked together by electronic
communications, especially the internet.

Therefore, the correct answer is option- C

48.9Rd & AFAfaf@d Tar & @ frgdr ael@r g o1 87

A. #gRTSE
B. 31T Ycer
C. e

D. IR

Answer ||| D
Solution |||

Guyjarat is strategically located with largest share in India’s coastline, followed by Andhra
Pradesh and Tamil Nadu. India total coast line is about 6089.71 km. Therefore, the correct
answer is option- D

State Coastline
Maharashtra 510.31 km

Andhra Pradesh 1037 km
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Kerala 560 km

Gujarat 1915.29 km

493X e & fAefaf@a afeat # i @ adiawor gewor & HRoT S
e ST gt Il 82

A. TEAT
B. IMHAAT

c.ag

D. dHAr

Answer ||| B
Solution |||

Over the years, Gomti has become the most polluted river in Uttar Pradesh. Monitoring by
the state pollution control board reveals the water is unfit for consumption. The extent of
pollution is such that the river's biodiversity is being affected.

Therefore, the correct answer is option- b

50.7323 ufficy serare deheraR (fawafa) &1 #AfY faeatafad Jgrfsar # foras
AT g2

A. AR

B. fehfaiRam
C. Sarer

D. Heoldoall

Answer ||| D
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Solution |||

Tirupati is in Chittoor district of Andhra Pradesh, India. It is most famous for its Sri
Venkateswara Temple dedicated to Vishnu, also known as Balaji in North India and Govinda
in South India. The temple is located on top of Tirumala hills. Therefore none of the above
answer is correct

51 JSTEATT HATEIT IUAT YR AT AFaAteidd H Thgar [AEear g2

A. T3
B. dforardier
C. iRl Tq 3fAdAg STAT
D. 3iferamedier

Answer ||| C
Solution |||

Rajasthan desert or Thar Desert is the expanse of Pleistocene and recent deposits. Pleistocene
is the period of time between around 1.8 million and 11,000 years ago, in which modern
humans first appeared, and the Northern Hemisphere experienced an ice age. . Therefore,
the correct answer is option- C

52.9Rd T Arafaiaa aAfeal & Sl gfgd) gc @ 7 Aherdr &2

A. FleTadr
B. drcdY/ardr
C. Frad

D. HeaTH

Answer ||| B
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Solution |||

The Godavari is India's second longest river after the Ganga. Its source is in Triambakeshwar,
Maharashtra.

Tapti River, Tapti also spelled Tapi, river in central India, rising in the Gawilgarh Hills of the
central Deccan plateau in south-central Madhya Pradesh state.

Kaveri River, Kaveri also spelled Cauvery, sacred river of southern India. It rises on
Brahmagiri Hill of the Western Ghats in southwestern Karnataka state, flows in a
southeasterly direction for 475 miles (765 km) through the states of Karnataka and Tamil
Nadu, and descends the Eastern Ghats in a series of great falls.

Therefore, the correct answer is option- B

53 AFfaf@a aeif & freat 9fq ama grer &1 3hea ari¥er 3cdiet g g2

A. AieTevsy
B. 3T foreat
C. 3AHATH
D. R

Answer ||| C
Solution |||

Denmark has the maximum production of milk per cow whereas India is the largest producer
of milk followed by the United States of America, China, Pakistan, Brazil etc.

Therefore, the correct answer is option- C

54.2011 I STHAINUTAT & AR IR TeT & frfai@d Seruer & forgd Afger
HIEAT & qa A &2
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A THAR
B. SeRTAYY
C. HTaEdT
D. Sglsd

Answer ||| C
Solution |||

Rampur - 44.44%
Balrampur - 38.43%
Shrawasti - 34.78%
Bahraich - 39.18%

Therefore, the correct answer is option- C

5541 & faffieet &fal & Scurfed Gordrer, el 3N Hrell =ear fAefaifad
ya@ St & FE i Fet

A. T

B. HcRT

C. 31HES
D. 39

Answer ||| D
Solution |||

Grapes are the subtropical fruit grows well in dry climate having a short sharp winter and a
long dry summer. There are different varieties grown in different regions. In the northern

plains common varieties are Black Prince, Bedana, Foster’s seedling, Khandhari Dakh and
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Muscat of Alexandria and Perlette; in dry and temperate regions there are the Thompson
seedless, Sultana and Kishmish white; in South India, Bangalore blue,

Pachadraksha, Gulabi, Black or Kali Champa and Thompson seedless are grown; in
western India, Cheema Sahebi, Anab-e-Shahi, and Thompson seedless are grown.

Therefore, the correct answer is option- D

56.fFfaf@a TSt & Sl s U9 Frel BT FT gEH 997 3cUEH &7

A. dRAATS
B. 3ar
C. ol

D. HERISE

Answer ||| C
Solution |||

In India, the state of Kerala is by far the most productive producer of Cardamom. The
districts of Idukki, Palakkad and Wynad being the principal producing areas. Therefore, the
correct answer is option- C

573l - | T T - 11 9 FATT FSw | QU Feh & T 3R &1 =9gT RS |

-1 T -
rarezif Had FAT =er
A e 1.513sTaam

B. FETUS 2. dear&dr

C.3caRT@YS | 3. 3715 Hig
D.dfAeas | 4. GR™AM
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A. A-1B-3C-4D-2
B.A-2B-3C-4D-1
C.A-3B-4C-2D-1
D. A-1B-2C-3D-4

Answer ||| C

Solution |||

States Highest Peak

A) Kerala - 1) Anai Mudi

B) Nagaland - 2) Saramati

C) Uttarakhand - 3) Nand Devi
D) Tamil Nadu - 4) Dodda Betta

Therefore, the correct answer is option- C

58. fAFATT@d Sl # ia-ar g & 3RS T ET0T 3cUTeeh 27

A. ST
B.H. I AR
C. frelr
D. =T

Answer ||| C
Solution |||

lodine is a trace element that is naturally present in some foods, added to others, and
available as a dietary supplement. Deficiency of iodine result in Goiter.Chile is the world’s
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largest iodine producer and Japan is the second largest producer of lodine. Therefore, the
correct answer is option- C

59.2011 T STIUTAT & AR, fe=ifafead T2t & forad amdior v aedr et
&=t 7 Y T 3T ~geTaH g2

A. 3aT I
B. &h{ol
C. giRmom

D. FH Td AN

Answer ||| C
Solution |||

Arunachal Pradesh has the highest child sex ratio among the Indian states i.e. 972 while
Haryana has the lowest child sex ratio i.e.873 per thousand males in Urban and 882 per
thousand male in rural.

Therefore, the correct answer is option- C

60.2011 T ST & HTAR fe=ifaf@d Toat & @ fovgehr amefor seraear
gaifaes g7

A. ACT 9T

B. HERISS
C. 9aTd

D. 38X ¢

Answer ||| D

Solution |||
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Uttar Pradesh: 77.73%
Madhya Pradesh - 72.37%
Punjab — 62.52%
Maharashtra- 54.78%

Therefore, the correct answer is option- D

61.f4FT T3t W faaR Hifow
1) ggem TG

2) 9gell shic

3) shaddrel Sild

4) 9gell TATURY

Y BT AT YAl W 3oleh 3cUeed glel & HlohHATAN ST Hfaw
dur A QU Fel & § T 3T A IS A0

A 2134
B.2314
C.3214
D.2413

Answer ||| C
Solution |||

During the evolution the organism started to evolve from primitive to complex one. The
Chronological order of their origin on the earth Shelled animals- (543-488 million years
ago). First insects, First reptiles, First mammals. Therefore, the correct answer is option- C
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62 TAHAT H STAHEAT & F@i H1 IR 6y 9 s1fasy & fav Feit aur 377
AT f g AT F O i - O 3@URom S gReENT §?

A. 3T gefer
B. 3+ faerd
C. gaavuily faerd
D. #AlAg fa&rd

Answer ||| C
Solution |||

Sustainable Development is the development that meets the needs of the present without
compromising the ability of future generations to meet their own needs. Therefore, the
correct answer is option- C

Economic growth is the increase in the inflation-adjusted market value of the goods and
services produced by an economy over time. It is conventionally measured as the percent rate
of increase in real gross domestic product, or real GDP

Economic development' is a process in which a nation is being improved in the sector of the
economic, political, and social well-being of its people.

Human development is the science that seeks to understand how and why the people of all
ages and circumstances change or remain the same over time.

63.7a%9 AT EaT fgaq AT ST &

A. 11 3[elT$ &1
B.8HS &I
C. 53T @l
D. 16 3eFCaT &l
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Answer ||| A
Solution |||

World Population day is an annual event, observed on July 11 every year, which seeks to
raise awareness of global population issues. The event was established by the Governing

Council of the United Nations Development Programme in 1989. Therefore, the correct
answer is option- A

64.faFTfrd & &l 9IRT & I Y@T FT FUROT AT 872

A. FgIg ATIAS

B. dlleh T

C. ST IHT

D. IISTeTT 3T (319 Al 37419D)

Answer ||| D
Solution |||

Poverty line is the amount of money needed for a person to meet his basic needs. It is defined
as the money value of the goods and services needed to provide basic welfare to an
individual.

The Planning Commission (now NITI Aayog was the nodal agency for estimation of
poverty).

The Planning Commission appointed Expert Groups from time to time for setting poverty
line and methodology of constructing it. Eg. The Rangarajan Committee is the latest among
those Expert groups.

Therefore, the correct answer is option- D

65.fFrfaf@a = & ST T Fr THAS H ARG H TUH I¥ST W g2
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A. #HgRTSC
B. 3R 9c2r
C. #HET Y2l
D. TSTEUTT

Answer ||| A
Solution |||

Total length of rural roads in India was 2437255 Kms. as on 31st March 2015. The top 10
States/UTs in terms of total length of rural roads in India as on 31st March 2015 were:
Maharashtra, Assam, Odisha, Karnataka, Madhya Pradesh, Bihar, West Bengal, Tamil Nadu,
Kerala and Andhra Pradesh.

Maharashtra has the largest road network in India at 2, 67,452 kilometres

Therefore, the correct answer is option- A

66.9Td H 9cgeT Y s fArafaf@ad & fFaa gefeua g2

A. 9 X
B. 37T &Y

C.3c4lg
D. @ar &

Answer ||| B
Solution |||

Direct Taxes are those taxes that are imposed directly by the government on the income and
wealth of an individual/organization is called direct taxes.

Some of the examples of direct taxes are:
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Income tax, Capital Gains Tax, Securities Transaction Tax, Corporate tax, Dividend
Distribution Tax

Indirect taxes are defined as taxes are charges that are applied to goods and services and
hence, collected indirectly from the end consumer. It can be transferred from one entity to
another.

Some of the examples of indirect taxes are

Sales tax, Service tax, Central Excise Duty, Customs Duty and Octroi, Value Added Tax,
Goods and Service tax Therefore, the correct answer is option- B

67. T N FeAUA I LAY T8I &

A TFHSISH H
B. heleRT H
C. 3terar &
D. ARTETR H

Answer ||| A
Solution |||

Greenpeace is a non-governmental environmental organization with offices in over 39
countries and an international coordinating body in Amsterdam, the Netherlands.

Therefore, the correct answer is option- A

68.9Rd ¥R GaRT HIf¥T ‘T o € $8ohq fAvtfeii@d o fhad dafeud g2

A FY
B. §OR
C. Eareey
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D. frear

Answer ||| C

Solution |||

ABC index is announced by the government of India.

ABC index stands for The Achievements of Babies and Children Index.

It measures the following basic aspects of child well-being:

1- Survival : It measures the percentage of children who survive to age 5.

2- Immunization- It measures the %age of children who are fully immunized.
3- Nutrition - It measures the percentage of children who are not under-weight.
4- Schooling- It measures the percentage of children who attend school.

Therefore, the correct answer is option- C

69.FeFT IS¢ & Tk Td HASS HHe & G977 (UN-DESA) & 38R faed
T ol STAEEIT HI fohetall Flerdier redr & & fAara #iear g2

A. 25
B.35
C. 45
D. 55

Answer ||| D

Solution |||
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According to the UN Department of Economic and Social Affairs (UN-DESA) about 55% of
the world’s population lives in urban areas, a proportion that is expected to increase to 68%
by 2050.

Therefore, the correct answer is option- D

70. AT & *ia gfadaes gue 7
A, THIET

B. BIIGISHTFASS
C. FIET HA-TFASS
D. Folls U

Answer ||| A
Solution |||

A primary pollutant is an air pollutant emitted directly from a source whereas secondary
pollutant is not directly emitted as such, but forms when other pollutants (primary pollutants)
react in the atmosphere.

Eg. of secondary pollutant , smog, ozone, peroxyacyl nitrates (PANSs), and nitric acid

Therefore, the correct answer is option- A

71 fafafEa aRfeafy &1 a3 & frad gonfag Rfuar anera: sy 3R
gidr g7

A TTEY TG

B. 350T shfeaefT auT g
C.®Re %

D. ASEYTS
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Answer ||| C
Solution |||

The diversity of species is lowest at the poles and increases toward the equator. Coral reefs
are believed by many to have the highest biodiversity of any ecosystem on the planet—even
more than a tropical rainforest. Occupying less than one percent of the ocean floor, coral
reefs are home to more than twenty-five percent of marine life. Therefore, the correct
answer is option- C

72 fFafaf@a & ia Hier @ greg & grar g2

A e H

B. g
C.org

D. #idr

Answer ||| D
Solution |||

Silk is obtained from the cocoons of the larvae of the mulberry silkworm Bombyx mori
which is an insect.

Honey is a sweet, viscous food substance produced by bees and some related insects.
Lac is the scarlet resinous secretion of a number of species of lac insects

A pearl is a hard, glistening object produced within the soft tissue (specifically the mantle) of
a living shelled mollusk or another animal, such as a conulariid. Therefore D is the correct
option.

Therefore, the correct answer is option- D
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73fArAfaf@d & Fld GAET aRfEfY 7 ga7 & odl A TERTEC FT SHTAT TR
Y d T &2

A.10db
B.20db
C.60db
D. 100 db

Answer ||| A
Solution |||

A whisper is about 15 Db. If you can hear the leaves rustle over a whisper than it is louder
than 15 Db. The wind can have any level from 30 db (breeze blowing around objects) to 60
db (onshore sea winds) and up to 90 db (hurricane winds). Therefore, the correct answer is
option- B &

74.3TedTg IRAAT T HYF ST T FEAell COP21 AT §3 AT

A. ATERN H
B.9RT &
c.afde &
D.aIfRar &

Answer ||| B
Solution |||

The United Nations Framework Convention on Climate Change (UNFCCC) is an
international environmental treaty adopted in 1992. The 2015 United Nations Climate
Change Conference, COP 21 or CMP 11 was held in Paris, France, from 30 November to 12
December 2015. It was the 21st yearly session of the Conference of the Parties (COP) to the
1992 United Nations Framework Convention on Climate Change (UNFCCC) and the 11th
session of the Meeting of the Parties (CMP) to the 1997 Kyoto Protocol.
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Therefore, the correct answer is option- B

75.5Telarg aREde W ARA HT GUH TS S ATl e olepriad i T 24

A. 2000 &
B. 2008 H
C.2012H
D. 2015 &

Answer ||| B
Solution |||

The Government of India formulated national plan on water, renewable energy, energy
efficiency agriculture and others — bundled with additional ones — into a set of eight missions
under the National Action Plan on Climate Change.

The Action Plan was released on 30th June 2008 to address the future policies and programs
for the climate mitigation and adaptation.

Eight Missions of the National Action on Climate Change (NAPCC)
1) National Solar Mission

2) National Mission for Enhanced Energy Efficiency.

3) National Mission on Sustainable Habitat

4) National Water Mission

5) National Mission for Sustaining the Himalayan Ecosystem

6) National Mission for a “Green India”

7) National Mission for Sustainable Agriculture

8) National Mission on Strategic Knowledge for Climate Change
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Therefore, the correct answer is option- B

76.T9" 3f8e R aiRFufasr a7 sila-ar g2

A TP (FETHR)
B. §eT

C. ydd
D. AXET T

Answer ||| A
Solution |||

An ecosystem is a community made up of living organisms and nonliving components such
as air, water, and mineral soil.

A stable ecosystem is an ecosystem in which the structure and function remain unaltered over
a long period of time.

Oceans are considered to be the most stable ecosystem in nature. They are stable in their
chemical composition due to being saline and other features like, dissolved oxygen, light,
temperature also remain more or less constant. They are deep, continuous and large therefore
there are less chances of any prominent change which alter their structure and function. They
are well capable of resisting any of the small changes which occur.

Therefore, the correct answer is option- A

77 38y &7 99T fFefaf@d & fras fow fFar Srar &2

A. F3T HRT A STl & faw
B. %3T T Y oA @A & fow
C.gY Ush &I e & foav
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D. @Ig g1 & fow

Answer ||| A
Solution |||

Incineration is a waste treatment process that involves the combustion of organic substances
contained in waste materials. Incineration and other high-temperature waste treatment
systems are described as "thermal treatment”. Incineration of waste materials converts the
waste into ash, flue gas and heat.

Therefore, the correct answer is option- A.

78R 78 weTTa AT 82

A. 3REsh a9 7 gefa
B.dRas aa & Fer
C.WRPR Sl & a9 A Jefe

D. Afeal Ta fFrel & a9 # gefer
Answer ||| A

Solution |||

The greenhouse effect is the process by which radiation from a planet's atmosphere warms
the planet's surface to a temperature above what it would be without this atmosphere.

Gases in the atmosphere, like water vapor (clouds), carbon dioxide (CO2), methane (CH4),
and nitrous oxide (N20) act as a Greenhouse gases.

Therefore, the correct answer is option- A

79. AT A leT wrpfaeh 39 @1 FET H9T 82
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A. .59

B. sg¢eT

C. FIad HAN-3{TFa1SS
D. e

Answer ||| D
Solution |||

Natural gas is a naturally occurring hydrocarbon gas mixture consisting primarily of
methane, but commonly including varying amounts of other higher alkanes, and sometimes a
small percentage of carbon dioxide, nitrogen, hydrogen sulfide, or helium. Therefore, the
correct answer is option- D

It is formed when layers of decomposing plant and animal matter are exposed to intense heat
and pressure under the surface of the Earth over millions of years. It is a fossil fuel used as a
source of energy for heating, cooking, and electricity generation. Fossil fuel-based natural gas
is a non-renewable resource.

80.937 &I AT ST FHiA-71 & AR A 7 gyt & eenswer faerea g
& foT soRerl &2

A. 3TTSSTheT
B. TTcTfHathet
C. vt

D. fS&alifthea

Answer ||| D
Solution |||

Vultures in India close to extinction because of cattle drug. Diclofenac is an anti-
inflammatory drug used by farmers to ease pain in cattle, is deadly to vultures, which have

Gradeup Green Card
Unlimited Access to All Mock CHECK HERE

Tests of State PCS Exams



http://www.gradeup.com/
http://bit.ly/2BCBkXH

o

www.gradeup.co gradeup

declined in numbers by up to 99.9% despite the drug being banned: and a lack of vultures
means all sorts of other problems

Therefore, the correct answer is option- D

81.TAFATATET ST H HIA-AT 2015 H FaTTDH COLHT 3cHosh AT?

A. Tt
B. H.31. 3AR®T
C. oRd
D. %

Answer ||| A
Solution |||

The world’s countries emit vastly different amounts of heat-trapping gases into the
atmosphere. China is the largest emitter of CO2 in 2015 as per the report compiled by
International Energy Agency followed by United States and India which scored second and
third respectively.

Therefore, the correct answer is option- A

82.fAFT H @ HlT-T HUT FET 7

1) YTepfceh 3MUeTe Faiftre affc fashraeher et & el &2
2) HI9Tel I FTAGT ATAd-ffard AT |

3) AR 3T9ET - JF & B |

4) AT Tt T JHTT HH Hd 3 |

A feT det A F HE 3R glAv |
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A1, 23413
B.2,3d4r4
C.1,2qur4
D.1,3dur4

Answer ||| C
Solution |||

Natural disasters frequently occur across the world, affecting both developed and developing
countries.

Between 1991 and 2005, nearly 90% of disaster-related deaths and 98% of people affected by
disasters were in developing nations. Hence statement 1 is correct.

The Bhopal disaster or Bhopal gas tragedy was an industrial accident. It happened at a Union
Carbide subsidiary pesticide plant in the city of Bhopal, India due to the emission of toxic
Methyl Isocyanate.

Therefore, the correct answer is option- C

Natural disasters in India, many of them related to the climate of India, cause massive
losses of life and property. Droughts, flash floods, cyclones, avalanches, landslides brought
by torrential rains, and snowstorms pose the greatest threats. Hence statement 3 is incorrect

Mangrove forests, common along tropical coasts, can provide a protective shield against
destructive cyclones and reduce deaths. Hence statement 4 is correct

83.fAFATaad & fhgeT dar 3ThdH gidr g7

A. FIfeHAs fRIoT
B. WehTeT
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Answer ||| B
Solution |||

The speed of light in a vacuum is defined to be exactly 299,792,458 m/s (approx. 186,282
miles per second) which are the greatest possible speed in any inertial frame.

Cosmic rays are high energy protons or high energy nuclei. So they have a rest mass
therefore they are slower than light.

Electrons have a rest mass so they are slower than light.

Supersonic travel is a rate of travel of an object that exceeds the speed of sound (Mach 1)
which is equal to 340.29 meter/second.

Therefore, the correct answer is option- B

84.3%heT BT &

A. Tee T T8 g
B. el & alall Jia®q
C. FIea FI FHEAAR
D. 3WIad H FIg 8T

Answer ||| B
Solution |||

Graphene is an atomic-scale honeycomb lattice of carbon atoms. It has emerged as one of the
most promising nanomaterials due to its unique combination of its superb properties.

Charateristic of Graphene
It is not only one of the thinnest but also strongest materials.

It conducts heat better than all other materials
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It is a great conductor of electricity

It is optically transparent, yet so dense that it is impermeable to gases — not even helium, the
smallest gas atom, can pass through it.

Therefore, the correct answer is option- B

85.£afeT ST d9T HRAH BT

A faaa &
B.ag #
C.lel H
D.g&q1d H

Answer ||| D

Solution |||

Speed of sound in different medium

The sound travels at fast rate in solids than liquid, gas and vacuum.
Velocity of sound in-:

Solid > Liquid > Gas > Vacuum

Air 330 m/s

Water 1480 m/s

Steel 5800 m/s

Therefore, the correct answer is option- D

86.49311 # TGl I THIIAT A AT HicA-AT ATFAATS 3AT BIell 2
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A. 3N

B. HoWY SS3FASS
C. eI SSIHFASS

D. Redvdler$e Asee

Answer ||| D
Solution |||

A powerful eye irritant in the smoke is. Peroxyacetyl nitrate It is
a secondary pollutant present in photochemical smog. It is
thermally unstable and decomposes into peroxyethanoyl radicals and nitrogen dioxide gas.

Therefore, the correct answer is option- D

87.T N ey 31 A AHS YEas forea fodr 87

A TEheT GifoheT ganT
B. S &Y. sATeliet gaRT
C. &Y. &Y. TAA eanr

D. Tq. &1 @l

Answer ||| A
Solution |||

A Brief History of Time: From the Big Bang to Black Holes is a popular-science book on
cosmology (the study of the Universe) by British physicist Stephen Hawking. It was first
published in 1988. Hawking wrote the book for non-specialist readers with no prior
knowledge of scientific theories.

Therefore, the correct answer is option- A
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88.[AFATTET H T [FeIfAa C &1 oy 3T ad 272

A. GRT
B. a9

C. IR
D. 3ffaelr

Answer ||| D
Solution |||

Vitamin C, also called ascorbic acid, plays many important roles in the body. In particular, it
is key to the immune system, helping prevent infections and fight disease. The human body
does not store vitamin C, so people need to get this nutrient from their diet every day.

The Amla fruit is reputed to have the highest content of vitamin C of any natural occurring
substances in nature. Therefore, the correct answer is option- D

89.FFfafld argt # wlet Siiaet & 31cdca & foIv Iugerd & Fehell &7

A. FITSA

B. 9T
9

C. U
9

D. gg&ufd

Answer ||| A
Solution |||

The fourth planet from the Sun, Mars is a dusty, cold, desert world with a very thin
atmosphere. Mars may be the suitable plane for existence of life in our solar system. Recently
presence of water mostly exists in icy dirt and thin clouds make them suitable for the
existence of life. Therefore, the correct answer is option- A
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90.3MSAEeIS I et # @ 3o forg Reued & fow Alde &R fear ar
ar?

A. F98TdT & fcured & fav

B. yhmer fagd & feured & fav

C. fafrse AT & eued & fou
D. s3faare aifd & Rguea & fou

Answer ||| B
Solution |||

The Nobel Prize in Physics 1921 was awarded to Albert Einstein "for his services to
Theoretical Physics, and especially for his discovery of the law of the photoelectric
effect.” Therefore, the correct answer is option- B

91.fFT@d ol Al A @ &l GO YGuUT Fgl 3cdeel Il g2

A. AP Far
B. G Fair

C. Ui gd air
D. T Fall

Answer ||| B
Solution |||

The generation of electricity through nuclear energy reduces the amount of energy generated
from fossil fuels (coal and oil). Less use of fossil fuels means lowering greenhouse gas
emissions (CO2and others). But the nuclear waste which is generated from the nuclear
reactor creates pollution.
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Petroleum and Coal energy also released atmospheric pollution.

Solar panels produce electricity by transforming the continuous flow of energy from the sun
to electricity.

No harmful emissions are released into the air when electricity is produced by solar panels.

Therefore, the correct answer is option- B

9235 & Afd [AELrF dca TesT eI & v e & O 9 9 e &
anfaa 7 a1 Ia 87

A. GHATSATEY

B.3GR sigferehdrardr
C. aefiarer

D. 3R G

Answer ||| D
Solution |||

The Constitution does not contain any classification of Directive Principles. However, on the
basis of their content and direction, they can be classified into three broad categories, viz,
socialistic, Gandhian and liberal—intellectual. Therefore, the correct answer is option- D.

93.fArATATeT # 8 3nMeh TegT @Rl HRA # 3 ARIRYE &gl I

A. JISTAT 3TTAET

B. faa 3marer

C. heag ARG

D. SRIMEfes R 3T
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Answer ||| A
Solution |||

Ashok Chandra had called Planning Commission India’s as Economic Cabinet. Planning
Commission, agency of the government of India established in 1950 to oversee the country’s
economic and social development, chiefly through the formulation of five-year plans. It is
replaced by NITI Aayog (National Institution for Transforming India) which s a policy
think tank of the Government of India, established with the aim to achieve Goals and to
enhance cooperative federalism by fostering the involvement of State Governments of India
in the economic policy-making process using a bottom-up approach. Therefore, the correct
answer is option- A

94.9RAT TR TTEAT H A SAeAfgd ARSI &l AMTHST HAT -7 39 JHT
HRA & A& ~gareer sle a7

A TH. fderadeen
B. U.UH. 3fgHCI

C. 9. T, Haradr
D.T. TH. Heleq

Answer ||| C
Solution |||

The concept of public interest litigation (PIL) rests on the principle that any member of the
public can initiate legal proceedings on behalf of an aggrieved person, especially a person
who is unable to move to court on his or her own. Such proceedings can be initiated in either
the High Court or the Supreme Court for the enforcement of the constitution or legal rights of
a person or a group of person. Justice P.N. Bhagwati was played a key role in enunciating
the principle of PIL. Therefore, the correct answer is option- C

95.2 UhHIsee IsH fAfATe qede & ogsh i g7
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A. TSI TGS
B. el TR

C. FoldT AT
D. &9 &%

Answer ||| D
Solution |||

Sanjaya Baru is the author of ‘The Accidental Prime Minister: The Making and Unmaking of
Manmohan Singh which was published in 2014. Therefore, the correct answer is option- D

96.1Rd 1 FfatmeT T &I o dow & Ter Afy sasv|

A. 26 sTdsX 1949
B. 5 f&deT 1949
C. 24 STeTadl 1950
D. 25 STeTadl 1950

Answer ||| C
Solution |||

Constituent Assembly was proposed in 1934 by M. N. Roy, The Constituent Assembly of
India met for the first time in New Delhi on 9 December 1946, and its last session was held
on 24 January 1950. Therefore, the correct answer is option- C

7. @a & Fa 991 8T FAT ST ohdr W FATCT har ST ehdr 87

A. ARTHAT
B. T AT
C. faumer gar
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D. fatne aRue

Answer ||| D
Solution |||

Parliament can create or abolish the state legislative councils (not dissolved) on the
recommendation of the concerned state legislative assemblies.

Council of State is a permanent body which is neither dissolved nor abolished whereas the
House of People and legislative assembly can be dissolved not abolished. Therefore option D
is correct.

Therefore, the correct answer is option- D

98.9Rd TR SART ‘Afgell Td Frelidehrd’ & ol FadT HATGT e TS foham
I

A. 1985
B. 1986
C. 1987
D. 1988

Answer ||| D
Solution |||

The Department of Women and Child Development, Government of India, came into
existence as a separate Ministry with effect from 30th January, 2006; earlier since 1985 it was
a Department under the Ministry of Human Resources Development. The Ministry was
constituted with the prime intention of addressing gaps in State action for women and
children for promoting inter-Ministerial and inter-sectoral convergence to create gender
equitable and child-centred legislation, policies and programmes.

Therefore the given above options are not correct.
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99.71h T & heg AT/ &FT &I AT Yfafafaca fraar & dedr g7

A. 15
B. 20
C.25
D.3Wed H & HI$ 7Er

Answer ||| B
Solution |||

The maximum strength of the House envisaged by the Constitution is 552, which are made
up by election of upto 530 members to represent the States, upto 20 members

to represent the Union Territories and not more than two members of the Anglo-Indian
Community to be nominated by the Hon'ble President. Therefore option B is correct.

Therefore, the correct answer is option- B

100.14 ST & 15 SelT$ 2018 deh &F #H TSI BT (FIFA) fava &9 & Fel fovcelr
<A o HET foram?

A. 32
B. 34
C.36
D. 30

Answer ||| A
Solution |||

The FIFA World Cup is an international association football competition established in 1930.
It is contested by the men's national teams of the members of the Fédération Internationale de
Football Association (FIFA), the sport's global governing body. The last FIFA World Cup
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Competition was in Russia from 14th June to 15th July 2018. The next FIFA World Cup
Tournament will be held in Qatar in 2022. Since the 1998 Finals in France, the competition
involves 32 teams at venues within the host nation (or nations) over a period of about a
month. France won the 2018 FIFA world Cup and Croatia is the runners-up. Therefore, the
correct answer is option- A

101.Ferfaf@d et & fras e &3 Ay & 11 7S 2018 T IATIOT Alhe” &
QT3 T2

A. SreTehT
B. ;AR
C. a4rel

D. s3I ferT

Answer ||| C
Solution |||

Prime Minister Narendra Modi inaugurated Ramayan Circuit under Swadesh Darshan
Scheme to promote religious tourism in Nepal and India. The government has identifiied 15
destinations in India for development under Ramayana Circuit theme under Swadesh Darshan
Scheme. They are Ayodhya, Nandigram, Shringverpur and Chitrakoot (Uttar Pradesh),
Sitamarhi, Buxar and Darbhanga (Bihar), Chitrakoot (Madhya Pradesh), Jagdalpur
(Chhattisgarh), Mahendragiri (Odisha), Nashik and Nagpur (Maharashtra), Bhadrachalam
(Telangana), Hampi (Karnataka) and Rameswaram (Tamil Nadu).

Therefore, the correct answer is option- C

1023w Y& H ‘YUl THeHE AR HEA{Ald & Ry TR & g7 Jeren?

A. tharare
B. §&dr
C. 3TSTHIE
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D.#A>

Answer ||| B
Solution |||

The six-lane Purvanchal Expressway will begin from Chand Sarai village on Lucknow-
Sultanpur road (NH 731) and end at Haidariya village in Ghazipur district, about 18 km from
the UP-Bihar order.

It is expandable to eight lanes, will connect Lucknow with the economically less developed
districts like Azamgarh, Mau, Ghazipur, Faizabad, Sultanpur, Ambedkar Nagar and Amethi
not Basti.

The expressway will bring about development of UP’s eastern districts by connecting them to
the state capital and further to Agra and New Delhi, through the Lucknow-Agra Expressway
and the Yamuna Expressway. Hence option B is correct.

Therefore, the correct answer is option- B

103 HYF USE & ‘$=adel-He Fahieh, 2018’ & 3THR AR HT hicl-AT TUTT g2

A.90ar
B. 95 ar
C.96ar
D. 99 ar

Answer ||| C
Solution |||
The E-Government survey is released by the United Nations in every two years.

The 2018 edition was titled as 'Gearing E-Government to Support Transformation towards
sustainable and resilient societies'.
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India, which was ranked 118 in 2014, jumped 11 places to be ranked 96 in 2018.

Denmark topped the 2018 E-Government Development Survey.

The EGDI is a composite index based on the weighted average of three normalized indices:
1) Telecommunications Infrastructure Index (TII),

2) Human Capital Index (HCI),

3) Online Service Index (OSI).

Therefore, the correct answer is option- C

104 fAFrfaf@a Ut 7 $la AS-5ET 2018 F AU aRRE AR & TR & HROT
ECUE Iy

A. fogr
B. ol

C. gRmom

D. el

Answer ||| B
Solution |||

On 19 May 2018, a Nipah virus disease (NiV) outbreak was reported from Kozhikode district
of Kerala, India. This is the first NiV outbreak in South India.

Nipah virus (NiV) is an emerging zoonotic virus (a virus transmitted to humans from
animals). Nipah virus causes NiV. Researchers believe that Nipah virus was transmitted from
flying foxes (mega bats) as they live by eating fruits and surviving in the trees.

Therefore, the correct answer is option- B
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105. R TSy T3TSeel GEARIerd ST 2018 H FehlRl SIASH ¢aRT fhd A9R &
ISe F FANT fFar ar=ar?

A. SITeE
B. ge1eTg
C. feeelr
D. deeTs

Answer ||| C
Solution |||

The Union Human Resource Development Minister, Shri Prakash Javadekar launched the
new digital initiative of HRD Ministry ‘National Digital Library of India’on the occasion of
National Reading Day in New Delhi . Therefore, the correct answer is option- C

This National Digital Library of India (NDLI) is a project of the Ministry of Human Resource
Development under the aegis of National Mission on Education through Information and
Communication Technology (NMEICT).

The objective of NDL is to make digital educational resources available to all citizens of the
country to empower, inspire and encourage learning. National Digital Library of India is
developed by IIT Kharagpur.

106.37Rgen Al Faehieh (STN3TS), 2018 & TR AR H R &I Hlel-AT TUTT
87

A.136dr
B. 137 ar
C.138dr
D. 134 af

Answer ||| A
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Solution |||

India was ranked 136th among 163 countries in Global Peace Index 2018 that was released
by Sydney based think tank Institute for Economics and Peace (IEP). Therefore, the correct
answer is option- A

In Last year’s index, India was ranked 137th. Iceland was ranked most peaceful country in
the world and it managed to retain its position since 2008.

107.15 a1 9ardy ARG feg@ Faadr 2019 .7 7T 8T & 3mAfod grem?

A. IROTET H
B. gsleT H
C.5 R &
D.qor &

Answer ||| A
Solution |||

15th Pravasi Bharatiya Diwas Convention was held at Varanasi, Uttar Pradesh on 22 January,
2019.

The theme of PBD Convention 2019 is "Role of Indian Diaspora in building New India".

Prime Minister of Mauritius Mr. Pravind Jugnauth will be the chief guest of the PBD
convention.

About Pravasi Bharatiya Diwas:

The 1st PBD was celebrated on 9th January, 2003 in New Delhi. January 9 was chosen as the
day to celebrate PBD as it was on this day in 1915 that Mahatma Gandhi, had returned to
India from South Africa. Therefore, the correct answer is option- A
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108.4 SelT$ 2018 & 1T T Uil Felol #eTcH FHI Hod (TH.TE.HN) 2018 - 19
et &

A.%. 1,550
B. . 1,650
C.%.1,750
D.%.1,950

Answer ||| C
Solution |||

The Union cabinet today cleared a hike of Rs 200 in the Minimum Support Price(MSP)
of paddy. The Centre today raised the MSP of the common variety of paddy from the
current Rs 1,550 per quintal to Rs 1,750 per quintal. Therefore, the correct answer is
option- C

109 e @ 7 fhaeT Sfels 2018 H UIfhEdTel T HEET FaATd ST 3R
TETAHAT FAT?

A. ddrer %

B. S @il
C. fSeiraer et

D.3EH T

Answer ||| B
Solution |||

Former cricket star Imran Khan has been elected prime minister of Pakistan in July 2018
election.

Therefore, the correct answer is option- B
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110551 # @ fhaa a¥ 2018 & AIHY REHR SAlc?

A HRd dedlel

B. AITH Al

C. 3T (A) 3R (B)
D.3RFd H ¥ FIs 18T

Answer ||| C
Solution |||

Two Indians, Bharat Vatwani and Sonam Wangchuk, are among the winners of 2018 Ramon
Magsaysay Award. The award is regarded as the Asian version of the Nobel
Prize.Therefore; the correct answer is option- C

111221 fyerm (BRICS) @y geaerst 2018 s=ifaf@a et & Fasd smafaa
fopar aram

A. STSiTer

B. gfayor 3nfihenr
C. &

D. =T

Answer ||| B
Solution |||

The 10th BRICS' Summit 2018 was held in South Africa under the theme ‘BRICS in Africa:
Collaboration for inclusive growth and shared prosperity in the 4th Industrial Revolution®

Therefore, the correct answer is option- B.
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BRICS is the acronym coined for an association of five major emerging national economies:
Brazil, Russia, India, China and South Africa. Since 2009, the BRICS nations have met
annually at formal summits

112 AT & @ dleT el Tofda T Figar g2

A, TTSTEAHAT
B. Aol
C. ddi
D. FIoH

Answer ||| A
Solution |||

The samhita in the Shukla Yajurveda is called the Vajasaneyi Samhita. The name
Vajasaneyi is derived from Vajasaneya, patronymic of sage Yajnavalkya, and the founder of
the Vajasaneyi branch. Therefore, the correct answer is option- A

113 &F YT f&U 7T §| T H HUT (A) TAUT g H HROT (R) FaT AT ¢ |

YT (A) : 5T T T JTHAVT Thel ET|

HROT (R) : 3K AR H olellicdeh TehdT sigr &Y |
4 T F&r # @ T 3R AT

A. FUA (A) TUT FROT (R) S=iT Tl § IAT HROT (R) HUA (A) I TET cATEAT ¢ |
B. YUeT (A) TUT HROUT (R) il WET & I HRUT (R) HUT (A) T AT w781 § |
C. FUT (A) LT &, B FROT(R) T & |
D. U (A) FTeld &, fohe] HROT(R) FET & |
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Answer ||| A
Solution |||

Both the statement are true and R is the correct explanation of A. Muhammad Gazni’s was
the first Turkish conqueror of North India. Thera are many regional powers were in North
India and at the time of Turkish invasion there was no polity unity among them. Turkish
invasion on India was successful.

Therefore, the correct answer is option- A

114.fF AR A Frelllshd H afleyd HIfST IR A T Fb & F &€l 3
7=

| gEdIeaT HieT

1. 33U <NerTqH HiY
1. FRTTARHA & TT AR
IV. ged danst

AL IV, I
B.IL LI IV
C.HLIL LIV
D.IV, I 1L

Answer ||| D
Solution |||

Seven Pagodas™ has served as a nickname for the south Indian city of Mahabalipuram, built
in the 7th century under the reign of Narasimhavarman I.
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The Shore Temple (built in 700-728 AD) is so named because it overlooks the shore of the
Bay of Bengal. It is a structural temple, built with blocks of granite, dating from the 8th
century AD. It is one of the oldest structural (versus rock-cut) stone temples of South India.

Brihadishvara Temple, also called Rajarajesvaram or Peruvudaiyar Kovil, is a Hindu temple
dedicated to Shiva located in Thanjavur, Tamil Nadu, India. It is called as Dhakshina Meru
(Meru of south). Built by Raja Raja Chola | between 1003 and 1010 AD ( 1 0% century ),
the temple is a part of the UNESCO World Heritage Site known as the "Great Living Chola
Temples".

Gangaikonda cholapuram temple is built in 11" century by Rajendra Chola.

Therefore, the correct answer is option- D.

115 gTMEFHT 7 3o e araeh & favg # Serl &1 & 82

A. @A
B. 372%

C. g¥a¥eT
D. &S

Answer ||| A
Solution |||

Kharavela was a king of Kalinga in present-day Odisha, India. He ruled somewhere around
first or second century BCE. He was the best known king of the Mahameghavahana dynasty.

The main source of information about Kharavela is his rock-cut Hathigumpha
inscription. Therefore, the correct answer is option- A

116,57 & FYUT &U 7T §| T H FHUT (A) TUT g H HROT (R) FgT AT ¢ |

Gradeup Green Card
Unlimited Access to All Mock CHECK HERE

Tests of State PCS Exams



http://www.gradeup.com/
http://bit.ly/2BCBkXH

o

www.gradeup.co gradeup

FUT (A) : 1946 7 FARH T 7 Ffdeie fAee carer & v & 71 e w&ipha
gy of o 47|

wmywmﬁ%ﬁaﬁnwﬁaﬁwaﬁwanﬁag@%
A QT F & § ¥ W AT

A. HYT (A) TUT FROUT (R) AT TeT § dUT HROT (R) HYUT (A) T TgT SATEAT ¢ |
B. YUeT (A) TUT HRUT (R) cleil WET § I HRUT (R) HUT (A) T AT w781 § |
C. % (A) HET 8, T HROT (R) ITeie ¢ |
D. ST (A) eI &, T HROT (R) FeT ¢ |

Answer ||| B
Solution |||

In 1946 the Muslim league withdraws its acceptance of the cabinet mission plan and the
Muslim league joined the interim government formed in 1946. Hence both A. and (R) are
true, but (R) is not the correct explanation of (A). Therefore, the correct answer is option-
B.

117 eATf@d # & fohed T AEIUMWIOT el # G Ulelel o THIOT fHeld 87

A. 3

B. SR
C.99R
D. sr@faar

Answer ||| C
Solution |||

The earliest evidence of domestication of animals has been provided by Adamagarh in
Madhya Pradesh and Bagor in Rajasthan. Some examples of earliest cultivation of plants
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around 7000-6000 years back have been found near Sambhar Lake in Ajmer Rajasthan,
Mehrgarh in Pakistan etc

Therefore, the correct answer is option- C

118 feAfafEd geat # #la @ gafaa =g 82

A. 38T AfESIE - ATg

B. ®fTel eXdTell Hisle - SileTqX
C. gIf&el garaT - Mg

D. e SIdTalT - 3gHSIEIG

Answer ||| A

Solution |||

Adina Masjid - The mosque is situated in Pandua, West Bengal (not Mandu )
Lal Darwaza Masjid - Jaunpur

Dakhil Darwaza - Gaour

Tin Darwaza - Ahmedabad

Therefore, the correct answer is option- A

119.fFfaf@d g7t # S @ gafeT 8 &

A. YICTH - T SATATIRT
B. SITHIGTH - HercTHTel
C. g - s O
D. 3&AT - RArdelr
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Answer ||| C

Solution |||

Dhruvadas — Bhakat Namwali ( not Bhagat Namawali)
Nabhadas - Bhaktamal

Raskhan - Rasik Priya

Usman — Chitrawali

Therefore, the correct answer is option- A

120.fAFTATET T3 T HITHAGTEAR Faiedd i AR T & 713 e 4
HET 3T T T HITIT |

A. §eX 3TINET

B. @S 3T
C.gg &1 =vonay
D. |Teic ArSell
A.ABDC
B.CBAD

C.ABCD
D.CABD

Answer ||| D
Solution |||

Wood's Despatch — 1854
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Hunter Commission- 1882
Sadlar Commission- 1917
Sargeant Plan - 1944

Therefore, the correct answer is option- D

121 AFATAT@T Adm3it # T HIfdeRT e, 3THAT ARG AT T TATIAT
I

A. q9a g

B. [deirer gAY AraiehT
C.SIReg AR O

D. gforeT fagrdy

Answer ||| B
Solution |||

Abhinav Bharat was named after the Abhinav Bharat Society, an organisation founded
by Vinayak Damodar Savarkar in 1904. The original organization believed in armed
revolution, and was responsible for the assassinations of some officers of the

ruling British government before being disbanded in 1952.

Therefore, the correct answer is option-B

122 FFAT@a goaAt # ST @Er gAfaa w7gr 82
faglg - a¥

A. AT - 1855
B. shlel - 1831
C. ™@rdr - 1829
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D. 31gIH - 1815

Answer ||| D
Solution |||

Ahom’s Revolt took place in Assam region after the First Anglo Burmese War. The rebellion
was against the annexation of the territories under British Empire in 1828 (not
1815). Therefore, the correct answer is option- D

Santhal

The Santhal rebellion predates to 1856. It was a rebellion of Santhal people led by 4 Murmu
Brothers named Sindhu, Kanhu, Chand and Bhairav in modern Jharkhand (then Bengal
Presidency) against the oppressive Zamindari system.

Kol

The Kols are tribal inhabitants of the Chota Nagpur region, part of Bengal Presidency during
the British rule in India. They comprised of the Kols, Bhils, Hoes, Mundas and Oraons tribes.

The revolt is a reaction to unfair treatment brought on by the systems of land tenure and
administration that had been introduced by British powers in the area. The Kols feared that
their independence would be threatened by the Britishers and so, in order to resist the British
invasion, the Kols rose in rebellion in 1831.

The leaders of the rebellion were Buddhu Bhagat, Joa Bhagat and Madara Mahato.
Khasi

The Khasi uprising took place in 1829 in the regions between the Khasi hills and Jaintia
Hills, against a planned British Road in that area. The leader of this uprising was Tirot Sing
Syiem.

123.FAFITf@d & Sl ART FT &9 AT ST I9Td 872
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A. ST STevard

B. Fefihel STeTUTd

C. AfhA FUg STelqaTd
D. Shdfd STer9drd

Answer ||| B
Solution |||

The Kunchikal falls is the highest waterfalls in India and second highest in Asia. The tallest
waterfall of India with a height of 1,493 ft is located near Agumbe in Shimoga district of
Karnataka. It receives heavy rainfall and one of the wettest places in South India.

Therefore, the correct answer is option- B

124.‘9oE9fd STordry 1 TET I ¢ ' T§ hYel Ffoud &

A. UTe2de
B. HdeT
C. draran
D. ¥&&F T

Answer ||| B
Solution |||

‘Vegetation is the true index of climate' is associated with Koppen. The Kdppen climate
classification is one of the most widely used climate classification systems. It was first
published by the German-Russian climatologist Wladimir Koppen (1846-1940) in 1884, with
several later modifications by Kdppen, notably in 1918 and 1936.

Therefore, the correct answer is option- B
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125 faFrfaf@a o & & forgs gear a9 &1 HAee fua 872

A. 3ratfear
B. SiTsilel
C. el

D. SR

Answer ||| A
Solution |||

The Pampas are fertile South American lowlands that cover more than 750,000 km2 include
the Argentine provinces of Buenos Aires, La Pampa, Santa Fe, Entre Rios and Cdérdoba; .

The climate of the Pampas is generally temperate, gradually giving away to a more
subtropical climate in the north and to a semiarid climate on the western fringes.

Therefore, the correct answer is option- A

126 feAfaf@d geat # #la a@gr gafaa =g g2
HEEIS -002082r

A. AR - .. AR
B. dhollHGRT - dlel

C. FRGH - ThATAEAT
D. [fIeqe - seirel

Answer ||| D
Solution |||
A) Sonoran - USA and & Mexico

B) Taklamakan - China
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C) Karakum - Turkmenistan
D) Gibson - Australia (not in Brazil)

Therefore, the correct answer is option- D

127 fAe=Ifaf@d b 3cdares 2t FI 3edch I 3cTesT (2016) (ATAT) FI 3RS
A H HAfeTd w3 A QY T FT @ FE 3R T AT |

A. FidfFsr
B. fagdeH
C. sTsfrer

D. g331T

A.D,CBA

B.C,BAD
C.B,D,CA
D.C,ABD

Answer ||| B
Solution |||

Coffee is one of the top commaodities worldwide. There are two main commercially grown
types of coffee beans: Arabica, which accounts for 70% of the world's coffee, and the
Robusta bean which is far cheaper and easier to grow.

Brazil - 2,595,000 metric ton
Vietnam - 1,650,000 metric tons

Colombia - 810,000 metric tons
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Indonesia - 660,000 metric tons

Therefore, the correct answer is option- B

128 ST #1gX o el Sl o URETd R 3R U9 & #ALY & Aegics qfr &
fhder T AT 87

A. 5,000 fh.5T.
B. 7,000 foh.#T.
C. 8,000 foh. .
D. 10,000 fo&5.#T.

Answer ||| B
Solution |||

The Suez Canal connects the Mediterranean Sea to the Red Sea that connects the Atlantic
Ocean to the Indian Ocean. Nearly 7000 Kms have been reduced between Europe and India
just because of the construction of Suez Canal. A ship that travel from Europe to India must
had to cross the Cape of Good Hope which made the ships to sail around the entire west part
of Africa and the half of the costs of Eastern Africa, until the construction of Suez Canal in
1869. Therefore, the correct answer is option- B

129 AFATAfEd ORI AlaH FEarerdl i 3! TATAT & Hlelfshd H Tdedd
HIST IR A 6T 7T Fe @ 39 FE IR F TG RSV

A. =5 feoell
B. hleTehrdT

C. farser
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A.CDAB

B.BADC
C.DBCA
D.BCDA

Answer ||| D
Solution |||

Indian Meteorological Department was established in the year 1875 with its headquarters at
Culcutta. The headquarter was shifted to Shimla in 1905, to Pune in 1928 and then to Delhi in
1944. It is under Ministry of Earth Sciences. Therefore, the correct answer is option- D.

130.fA=fof@a Faat & i T Ter 87

A. el TAETE T TATT AT H WR gl STl § |

B.%ed & 3AR TR A 3fard &7 & ve aRuea el @ &)
C. ®el fAEE & 3méar () UROT S & 3T &THAT Bl & |

D. FTell e RATerT &7 & 9r=iy S g

Answer ||| D
Solution |||
Black Soil

These soils are black in colour and are also known as regur soils. Black soil is ideal for
growing cotton and is also known as black cotton soil. This type of soil is typical of the
Deccan trap (Basalt) region spread over northwest Deccan plateau and is made up of lava
flows. They cover the plateaus of Maharashtra, Saurashtra, Malwa, Madhya Pradesh and
Chhattisgarh and extend in the south east direction along the Godavari and the Krishna
valleys. Not found in Himalayan region. The black soils are made up of extremely fine i.e.

clayey material. They are well-known for their capacity to hold moisture.
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Therefore, the correct answer is option- D

131.7FAIGT I@T JAT I@T dTcT &

A ART U9 91T & &I

B. HRd UG Uifhedlel & &I
C. HRd U9 FHAR & s
D. iRd UF 9Tl & &g

Answer ||| A
Solution |||

The McMahon Line is the demarcation line between the Tibetan region of China and the
North-east region of India proposed by British colonial administrator Henry McMahon at the
1914 Simla Convention signed between British and Tibetan representatives.

India and Pakistan - Radcliffe Line
India and Myanmar - Indo-Burma barrier
India and Nepal - Radoliff Line

Therefore, the correct answer is option- A

132 AAfafEd Afeal # fhas gt w “ggll & goi” & JTehfd arer Seel Sl
g7

A. BIaT 81
B. afrel
C.37gd
D. fAafadr
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Answer ||| D

Solution |||

Bird foot delta is formed at the mouth of Mississippi .

Mississippi is a state located in the southeastern region of the United States.

The delta is a triangular landform, created from the deposition of the river in its mouth before
meeting the ocean. The river mouth is where much of this gravel, sand, silt, and clay are
called alluvium.

Therefore, the correct answer is option- D

133, SToTEET T Tepiceh geftr # & fhgenr aRom#e 2
1) 3T Sed &

2) 3reNfard g &

3) werstel

4) faarg

QT a7 T & T IR F T HIfST

A. &hder 1
B. hddl 3
C.23ik4
D.13k2

Answer ||| D

Solution |||
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Of the three factors (fertility, mortality, and international migration) that determine
population size of a country, the two (fertility or birth rate and mortality or death rate)
determine natural growth of the population. Migration and Marriages are not determined the
natural growth of population.

Therefore, the correct answer is option- D

134.13%T & § T8 caRT AT [aehd geehieh (HDI) Fa9UH T fohar aram

A. g, T, 3. Ul gann
B. 3TS. UA. Uh. gaRT
C. g a® cart
D. 3{&FeTs gann

Answer ||| A
Solution |||

Human Development Index (HDI) of UNDP is a tool to measure country’s overall
achievement social and economic dimensions.

It considers 4 indicators —

1) life expectancy for health,

2) expected years of schooling,

3) mean of years of schooling for education and

4) Gross National Income per capita for standard of living.
UnitedNationsDevelopmentProgramme

UNDPwasformedin1965tohelpcountrieseliminatepovertyandachievesustainablehumandevelo
pment. TheUNDPisoneofthemainUNagenciesinvolvedinthedevelopmentofthePost-
2015DevelopmentAgendawidelyknownasthesustainabledevelopmentgoals.
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Therefore, the correct answer is option- A

135.fAFTT & S ARG F J#HT ASHIR T Ga8 g7 FRIHH 22

A, TG
B. T894

C.&H & dceol 3T

D. siereT fAed sRiH

Answer ||| A
Solution |||

Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) scheme is the
largest social security scheme in the world — guaranteeing 100 days of unskilled manual
work to all rural households in India. It is a Centrally Sponsored Schemes. Therefore, the
correct answer is option- A

Training of Rural Youth for Self-Employment (TRYSEM) the scheme — TRYSEM aimed at
providing basic technical and entrepreneurial skill to the rural poor in the age group of 18-35
years enable them take up income generating activities (self/wage employment)

The National Food for Work Programme (NFWP), 2004 was launched by minister of rural
development, central government on November 14, 2004 in 150 of the most backward
districts of India with the objective of generating supplementary wage employment. The
programme is open for all Indian poors who are prepared to do manual unskilled labour work
and are in the need of wage employment. It is implemented as a centrally-sponsored scheme.

136./AFATATET # Sl @Sl ash GaRT AT SATAT &7

A. 3TeT
B. SRISTTY
C. ST geier &
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D. 3T T AvaAdr

Answer ||| D
Solution |||

Gini Coefficient is the most popular measure of income inequality. The Gini coefficient is
derived from the Lorenz Curve. The Lorenz curve shows the percentage of total income
earned by cumulative percentage of the population. Therefore, the correct answer is
option- D

137 eATfEd Tt & i S ¢ffe @ Fe@ IR Afehet felamegara & 3mur
W gad A g?

A. ALT T

B. #FERISC
C. uf¥aH &emer

D. gRZmom

Answer ||| D
Solution |||

Nominal gross state domestic product (GSDP) per capita is the sum of all value added by
industries within each

state or union territory wrt total population of the state and serves as a counterpart to the
national gross domestic product per capita.

The following state has following GSDP data on 2011 and 2019(Values in Crores)
Maharashtra 2019 — 29.7lakh 2011- 12,80,369

West Bengal: Rs 109,491
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Madhya Pradesh: Rs 90,998
Haryana: Rs 2,26,664

Sex ratio as per Census 2011
West Bengal - 950

Madhya Pradesh — 931
Maharashtra — 929

Haryana- 879

Therefore, option D is correct.

138. AR U H HieT-A1 F IH FaA—FAN GaRT AT STl 572

A. T X

B. $-ToTed Y

C. T Aell W T
D. 39 # & HI wAgT

Answer ||| C
Solution |||

Taxes from Local fairs are collected by the Panchayat. The sources of income of the village
Panchayat (gram Panchayat) may be divided into some broad headings. Each Gram
Panchayat has its own fund. Money comes from different sources and is deposited in this
fund.

Therefore, the correct answer is option- C

139.97R # fAw=ifaf@d drer avl Aietansit & fhasr qE &3y Fuveig gefer ar
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A.9df
B. 10 df
C. 114t
D. 12 df

Answer ||| D
Solution |||

The concept of economic planning in India is derived from the Russia (then USSR). India has
launched 12 five year plans so far. First five year plan was launched in 1951. The 12th five
year plan would be called the last five year plan of India.

The theme of the 12'" five year plan is “Faster, More Inclusive and Sustainable Growth”

Therefore, the correct answer is option- D

140.39X 9 & [Fafof@a F9rt & @ 59 T @ ey shiea & Qe
& [T $ET THR @RI FAE ol T g2

A. G
ERERINEICY
C. INTSITETG
D. TR

Answer ||| C
Solution |||

The Smart Cities Mission (SCM) is a holistic city programme to build 100 cities in India. It
was launched on June 25, 2015 by the Prime Minister Narendra Modi. The objective of the
Smart Cities Mission is to promote cities that provide core infrastructure and give a decent

quality of life to its citizens, a clean and sustainable environment or to provide better basic

facilities to the citizens of the country.
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List of the cities in Uttar Pradesh shortlisted in the Smart City Project is as follows;
1) Agra

2) Aligarh

3) Allahabad
4) Bareilly

5) Jhansi

6) Kanpur

7) Lucknow

8) Moradabad
9) Rampur

10) Saharanpur
11) Varanasi

Therefore, the correct answer is option- C

141758 IRER T HI&TOT (NFHS) (20150-16) % 3JHR el H HRA
el Fofelel X (TFR) 4T 872

A. 22
B.2.4
C.32
D.34

Answer ||| A

Solution |||
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Total Fertility Rate may be defined as average number of children that would be born to a
woman if she experiences the current fertility pattern throughout her reproductive span (15-
49 years).

Total fertility rate declined in India by 22.73% from 2.7 in 2005-06 (NFHS-3) to 2.2 in 2015-
16 (NFHS-4).

Total fertility rate in rural areas was 2.4 in 2015-16 (NFHS-4). and in urban areas,
Total fertility rate was 1.8 in 2015-16 (NFHS-4).

Bihar has highest Total fertility rate (3.4) during 2015-16 (NFHS-4) where Sikkim has lowest
Total fertility rate (1.2) during 2015-16 (NFHS-4) in comparison to other states.

Therefore, the correct answer is option- A

142,97 H F0T &3 # LA, ver. gRary $r ggae & fov Aeafefaa § @
Hia-dy gAY aifea & = 2

A. SgaRY AR
B. g1 FiATT
C. dhsarelr FfAfa
D. g1 Ffafa

Answer ||| D
Solution |||

For the identification of BPL families in Urban Areas the eight-member panel was formed
under the former Planning Commission member and economist S R Hashim in 2010 by
Ministry of Housing and Urban Poverty Alleviation. Therefore, the correct answer is
option- D

The Suresh Tendulkar Committee, was formed by government of India in 2005 to study

‘methodology of estimation of poverty'.
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Dr. N.C. Saxena Committee was set up by the Ministry of Rural Development to advise it on
the suitable methodology for BPL Census and not for estimation of poverty.

Lakdawala Committee: It was an expert group constituted by the Planning Commission in
1989 to consider methodological and computational aspects of estimation of proportion and
number of poor in India under Prof. Lakdawala was the chairman of this group.

143 3T3AT-TEE 3T BREC RGIE 2017 o 3R, G & Fol HINTIH &TBel I
fora=Tr gfaerarer a=r & 3iaed g2

A.20.34
B. 22.34
C.2154
D. 23.54

Answer ||| C
Solution |||

According to the report the India State of Forest Report, 2017, the total forest cover is 7,
08,273 sq. km, which is 21.54% of the total geographical area of the country. Forest and tree
cover combined is 8, 02,088 sg. km or 24.39% of the total geographical area.

Therefore, the correct answer is option- C

144 9Rd H ST IRAVSEAT e Y& AT 742

A. 1968 &
B.1972H
C.1984 &
D. 1993 &

Answer ||| D
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Solution |||

Government of India launched Project Tiger in 1973. Therefore, option D is correct. Project
Tiger is a centrally sponsored scheme which is under the administrative control of Ministry of
Environment and Forest. The project aims at ensuring a viable population of tigers in their
natural habitats, protecting them from extinction, and preserving areas of biological
importance as a natural heritage forever represented as close as possible the diversity of
ecosystems across the distribution of tigers in the country.

145 AFATITRT H T ATIATAT AT Pl Teh 3SEI0T 87

A. STeldd

B. €T &1 Hel
C.aw asf

D. &l fA

Answer ||| D
Solution |||

* Anthropogenic biomes, also known as "anthromes" or "human biomes", describe the
terrestrial biosphere in its contemporary, human-altered form using global ecosystem units
defined by patterns of sustained direct human interaction. Eg. of anthropogenic biomes are

* Urban.

* Villages.

* Forested.

» Wildlands.
* Croplands.

Therefore, the correct answer is option- D
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146. AFafaf@a # Hia-ar e 967 gt I g9d oFeT 379 g ® ahdl
Y

A. TTRTH
B.3¢

C. FHIMw

D. & TgT

Answer ||| D
Solution |||

Kangaroo rats are small rodents which are the native to western North America. These rats
live in hot and dry areas and so must conserve water. They do this in part by lowering their
metabolic rate, which reduces loss of water through their skin and respiratory system. They
obtain enough water from the metabolic oxidation of the seeds they eat to survive and do not
need to drink water at all. Hence the option D is correct.

147.9RT FT TUA AT HeX BR AT SABEIRICT (T.HvAS) Fa e &
e &2

A. HIGTIR &
B. STHIIR H

CHFsg |
D. g3t &

Answer ||| B

Solution |||
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India’s first National Centre for Marine Biodiversity (NCMB) is located in Jamnagar Gujarat
for safeguarding the biodiversity of the coastal areas which is established in public private
partnership (PPP) mode in the country. Therefore, the correct answer is option- B

148 31R9TH TS 33U Feafaf@a & O oy gefeua 8§72

A. FEL FIT

B. dtes 3RITer

C. IT-UTHICE ATCA
D. §a[el AT AR T

Answer ||| D
Solution |||

Dachigam National Park is located in Jammu and Kashmir and it is mainly associated with
Hangul or Kashmiri stag which is a subspecies of elk native to India (endemic to Jammu and
Kashmir).

Conservation efforts

Included in Schedule- I (provides absolute protection — offences under these are prescribed
the highest penalties) of the Indian Wildlife (Protection) Act, 1972 and Jammu & Kashmir
Wildlife (Protection) Act, 1978 and Listed as Critically Endangered by IUCN.

Therefore, the correct answer is option- D

149.799T Sig fAfaedr iGaq s AATIT JATAT 872

A. AT, 22
B. H{S, 22

C. 5, 23
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D. 319, 16

Answer ||| B
Solution |||

The International Day for Biological Diversity (or World Biodiversity Day) is a United
Nations—sanctioned international day for the promotion of biodiversity issues. It is currently
held on May 22. Hence the option B is correct

The International Day for Biological Diversity falls within the scope of the UN Post-2015
Development Agenda's Sustainable Development Goals.

150.fAFfaf@a # @i Hear & wafeera g2

A. g3t

B. FalsAfeH
C. safes

D. erqramhr

Answer ||| A
Solution |||

Edaphic is an abiotic factor relating to the physical or chemical composition of the soil found
in a particular area. For example, very alkaline soil may be an edaphic factor limiting the
variety of plants growing in a region. Therefore, the correct answer is option- A
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